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( Multiple Choice Type Questions )
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! Choose and write the correct answers of

the lollowing questions in your answer-

book

1

ii)

iii)

On which part of the eye clear
image of object is lormed ?

1) Lens

bl  Yellow spot

¢} Blind spot

d]  All of these. ]

Which part of blood carries oxygen
from lungs to the cells ¥

a)  Plasma

b}  White blood corpuscles

¢} Haemoglobin

d} Blood platelets. 1
Due to deficiency of which vitamin
night-blindness is caused ?

a)  Vitamin Av”

b} Vitamin B

¢)  Vitamnin C

d) Vitamin D.
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o Which are the floating ribs in the
human body 2

@) Nimth and Tenth

b} First and Second

¢)  Filth and Sixth

d)  Eleventh and Twelfth. 1
vl Which part of Alimentary canal

absorbs digested lood ?

4] Stomach 7

b Dundenum

¢)  Small Intestine

) Liver. 1
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( Very Short Answer Type Questions )
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Write the qualities ol pure drinking

watler. :
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Where are sweat glands found What s
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(heir funcaot 2
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Which impurities are found in air ? 1
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What is the utility of fruits and |
vegetables in our food ? 1
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What is the effect of taking intoxicants
on the body ? https://www.upboardonline.com 1
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( Short Answer Type Questions )

77 2

Why is cleanliness and care of teeth in

the mouth necessary ? 9
nfem At =7 FRes] = Se Ry 2
Describe the problems of slums. 2
g oE ( TegTvd ) A FACHE € 2

what is meant by Monthly Course
( Menstruation } ? 9
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Write the treatment of bone fracture. 2

TEIGA F 1 FHUE 7 2
What are the causes of deafness ? 2
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( Long Answer Type Questions )
s A F v ¥ w I ¥ 2 TE

91 Td FAfara FEAEL | | 1-2-2
37erdl
Wﬁm%mwmw| 5

What is the utility of excretory system ?
Explain (he structure and working

process of kidney. 1+2+2
OR

Explain the kinds of movable joints

5

giving examples.
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Why is protein necessary for the body ?

Give detailed description of kinds.
sources and digestion of protein.

1+1+1+2
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Write the names ol two discases spreac

by Dacteria Descnbe the means of

spreading. svimptoms and preventive

measures of Tuberculosis l <1+ 1 + 22
OR

What do vou understand by

disinfection ? Write the man methods

ol disiniection I+ 4
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